

15/Eng 07/022

Hamzat - odusoga - k'inderuwo  
Peterleum.

$$y = e^{x^2+x}$$

$$u = x^2+x$$

$$\frac{du}{dx} = 2x+1$$

$$y = e^u$$

$$\frac{dy}{du} = e^u$$

$$\frac{dy}{dx} = \frac{dy}{du} \times \frac{du}{dx}$$

$$= e^u (2x+1)$$

$$2x+1 e^u \quad u = x^2+x$$

$$\frac{dy}{dx} = 2x+1 e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = 2e^{x^2+x} + (2x+1)(2x+1)e^{x^2+x}$$

$$= 2e^{x^2+x} + 4x^2 + 4x + 1 e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = 2e^{x^2+x} + 4x^2 + 4x + 1 e^{x^2+x}$$

$$y'' = \frac{d^2y}{dx^2} \quad y' = \frac{dy}{dx} \quad y = e^{x^2+x}$$

$$y'' = y'(2x+1) + 2y$$

$$y'' = y'(2x+1) + 2y$$

$$y'' = 2e^{x^2+x} + 4x^2 + 4x + 1 e^{x^2+x}$$

$$y'(2x+1) + 2y = 4x^2 + 4x + 1 e^{x^2+x}$$

$$2y = 2e^{x^2+x}$$

$$y'(2x+1) + 2y = 2e^{x^2+x} + 4x^2 + 4x + 1 e^{x^2+x}$$

$$= 2e^{x^2+x} + 4x^2 + 4x + 1 e^{x^2+x}$$

$$y'' = y'(2x+1) + 2y$$

W2

W3

$$u = y'' \quad v = 1$$

$$u' = y''' \quad v' = 0$$

$$y^{n+2} \cdot 1 + 0$$

$$u_2$$

$$u = y'$$

$$u' = y''$$

$$y^{n+1} = y^n$$

$$y^{n+1}(2x+1) + n(y^n)2 + 0$$

$$u_3$$

$$u = 2y$$

$$u' = 2y'$$

$$2[y^{n+1}] + 0$$

$$= 2y^n$$

$$u = 2y \quad v = 1 \quad w_1 = 102 + 103$$

$$u' = 2y' \quad v' = 0 \quad y^{n+1}(2x+1) + 2ny^n + 2y^n$$

$$2 \int \dots = y^{n+1}(2x+1) + 2Cn y^n$$

2a) using the Leibnitz theorem given that  
 $y = x^3 e^{4x}$  determine  $y^{(5)}$   
 Sol

$$u = e^{4x} \quad v = x^3$$

$$y^{(5)} = u^{(5)}v + 5u^{(4)}v' + 10u^{(3)}v'' + 10u^{(2)}v''' + 5u^{(1)}v^{(4)} + uv^{(5)}$$

$$= 4^5 e^{4x} x^3 + 5(4^4 e^{4x} 3x^2) + 10(4^3 e^{4x} 6x) + 5(4^2 e^{4x} 6) + 0$$

$$= 1024 e^{4x} x^3 + 1280 e^{4x} 3x^2 + 640 e^{4x} 6x + 80 e^{4x} 6$$

$$= 1024 e^{4x} x^3 + 3840 e^{4x} x^2 + 3840 e^{4x} x + 480 e^{4x}$$

$$4) x^2 dy^2 + \frac{xy}{dx} + y = 0$$

$$x^2 y' + xy' + y = 0$$

$$w_1 + w_2 + 3y = 0$$

for  $w_1$

$$u = y' \quad v = x^2$$

$$u' = y'' \quad v' = 2x$$

$$u^{n-1} = y^{n+1} \quad v'' = 2$$

$$y^{n-2} = y^n \quad v''' = 0$$

$$= y^{(2n+2)}(x^2) + n(y^{n+1})2x + n(n-1)y^n \cdot x + 0$$

$$= 2xy^{(2n+2)} + 2nxy^{n+1} + n(n-1)y^n$$

for  $w_2$

$$u = y^2 \quad v = x$$

$$u^n = y^{2n} \quad v' = 1$$

$$u^{n-1} = y^{2n-2} \quad v'' = 0$$

$$y^{2n-2} \cdot x + n y^{2n-2}$$

for  $w_3$

$$u = y \quad v = 1$$

$$u^n = y^n \quad v' = 0$$

$$y^{n+1}$$

$$w_1 + w_2 + w_3 = 0$$

$$2y^{2n+2} + 2nxy^{n+1} + (n^2 - n)y^n + xy^{n+1} + ny^{n+1} + y^n$$

$$xy^{n+2} + 2nxy^{n+1} + xy^{n+1} + n^2y^n - ny^n + ny^n + y^n$$

$$2y^{n+2} + 2n + 1 (xy^{n+1}) + (n^2 + 1)y$$